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using System;
using System.Windows.Forms;

public class Time

{
private int hour;
private int minute;
private int second;

/ /[ 3pianll
public Time (int hour, int minute, int second)
{

this.hour = hour;

this.minute minute;

this.second second;

/] iall (58 859=>90] Jlwgll (| Jsogl) this anlS Joesiwi Bgw dliwgll 0l
public string BuildString ()
{
return "this.ToStandardString():" + this.ToStandardString /()
+ "(): " + ToStandardString();




/ /aclw 12 plas (J] el Jg=o Bgaw aliawgll 03a
public string ToStandardString()

{
return String.Format ("{0}:{1:D2} {3}",
( (this.hour == 12 || this.hour == 0) ? 12 :this.hour % 12),
this.minute, this.second, (this.hour < 12 2 "AM" : "PM" ) );
}

}

/7 oliwsS Sl Gaiall uiss Bgw Ld
public class ThisTest

{
static void Main (string [] args)
{
Time time = new Time (12, 30, 19);
MessageBox.Show ( time.BuildString(),
"Demonstrating the this Reference");
}
}
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this, ToStandardString(): 12:30 PM
ToStandardSkring(): 12:30 PM
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using System;

public class Employee

{

private string firstName;
private string lastName;
private static int count;

//Glsbo cund WodS ualbgoll slae) a>lg @8lol sy Bgw il
public Employee (string fName, string lName)
{

firstName = fName;

lastName = lName;

++count;

Console.Writeline ("Employee object constructor:'

firstName + " " + lastName + "; conut = "

~Employee ()
{
—-—-count;
Console.Writeline( " Employee object destructor:
firstName + " " + lastName + "; conut = "

}

/ /g pow dpols
public string FirstName
{

get

{

return firstName;
}
}

/ /23V ool aols
public string LastName
{

get

{

return lastName;

}

//sla=l) @l auols
public static int Count
{

get

{

return count;

'+

+ Count) ;

n +
+ Count) ;




using System;
class StaticTest
{
static void Main (string [] args)
{
Console.Writeline ("Employee before instantiation: " +
Employee.Count + "\n" );
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Employee employeel = new Employee ("Ahmed", "Said");

Employee employee2 = new Employee ("Zayed", "Saif");

Console.Writeline ("after instantiation: " +
"Employee.Conut = " + Employee.Count + "\n" );

/] uibgoll yoyei By

Console.Writeline( "Employee 1: " + employeel.FirstName +
" " + employeel.LastName + "\nEmployee 2: " +
employee2.FirstName +" " + employee2.LastName +"\n" );
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employeel = null;

employee2 = null;

/) Jedl (e wlladl oo juz Bgw
System.GC.Collect() ;

// adoc wllaldl gozo spin i Lo

System.GC.WaitForPendingFinalizers () ;

Console.WriteLine( "\nEmployee after garbage collection: "
+ Employee.Count) ;

P sd Al g

Employee before instantiation: O

Employee object constructor:Ahmed Said; conut
Employee object constructor:Zayed Saif; conut =

N -

Employee after instantiation: Employee.Conut = 2

Employee 1: Ahmed Said
Employee 2: Zayed Saif

Employee object destructor: Zayed Saif; conut = 1
Employee object destructor: Ahmed Said; conut = 0

Employee after garbage collection: O
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using System;
using System.Windows.Forms;

public class Constants

{
public const double PI = 3.14159;




// Gl 13d o 58 s boaic diond gai Wow SJg dsh,el) B coli s Wow
public readonly int radius;

public Constants (int radiusValue)

{

radius = radiusValue;

}

}

public class UsingConstAndReadonly
{

static void Main ()

{
[/ Hhsll s Jela) aslg e doud gai Vg w
Random random = new Random() ;

new Constants (random.Next(1,20));

Constants constantValue

MessageBox.Show ("Radius = " + constantValue.radius +
"= " 4+ 2 * Constants.PI * constantValue.radius,
"Circumference") ;
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Circumference § |

Radius =13
Circumference = 31.65134
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using System;
using System.Windows.Forms;

public class Box

{
/7 sloowW 5,3Vl g sleW lodas] Guidgaan Esuins BDgw
private string[] names ={ "length", "width", "height"};
private double [] dimensions = new double ([3];

/7 dusinall
public Box (double length, double width, double height)
{

dimensions[0] = length;

dimensions[1l] = width;

dimensions|[2] = height;

}

public double this [int index ]
{
get
{ € 3 €
/7 sVl @8gann Jgb o 20l 8 50l (o ST uspiedl OIS 15] usiow
return (index < 0 || index >= dimensions.Length ) *?
-1 : dimensions [index];




set

/7 sVl @8gann Job o ,20l g 0l o ST Gwrgaell OIS 15| Huissow
if (index >= 0 && index < dimensions.Length)

dimensions|[ index

}

/] SOy Juspio Esuins Ygaw (P
public double this [string name]

{

get
{
int 1 = 0;
/] ourpanll go (gillaiy slaswVl
while
!'= names|[i])
i++;
return (i == names.Length ) ? -1
}
set

/] Ao il
int 1 = 0;

while
!= names[i])
i++;

!= names.Length
dimensions[i] =

if (1

}
// dkiud|Lino)g>+u1¢¥gﬂ\91$.39“,uﬁ

class TestIndexers

{

static void Main ()
{
string output;

Box box = new Box (0.0, O.
/7 03l Gwrpaoll uiziow Vol

/- aslaaVl pusll Lo seiow

output ="Before setting any value via numerical index:

+ box[0] +": " + box[1l]

0, O.

1 = wvalue;

dégmao.;é p;u|¢4:dgzg4u

(i < names.Length && name.ToLower ()

dimensions[i];

(i < names.Length && name.ToLower ()

)

value;

0);

+ ": " +box[2];

"
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box[0] = 3;
box[1] = 4;
box[2] = 5;

/[ pasll oy A2

output +="setting values via numerical index: : " + box[0]
+": " 4+ box[1] + ": " 4+ box[2];
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box["length"] = 7;

box ["width"] = 8;

box["height"] = 4;

/7 =l puspandl Bb e daazl pusll po,eiew

output +="setting values via string index: : " +
box["length™] +": " + box["width"] + ": " + box["height"];
MessageBox.Show (output, "Test Indexer");
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Test Indexer E'

Before setting any value via numerical inde:x:
lenght: 0
width: 0
height: 0

After setting values via numerical index:
lenght: 3

width: ¢

height: 5

After setting walues via skring indesx:
lenght: 7

width: 3
height: 4

sl S, g @bl pud i 9 Jldl 03 go Wb (sdowss Ol clio au,l 85lellS o

Jo i waiS sl whaidl pubis oo 1 Y @l Glao,l aclio (58 peleadl o
WluSe 9 il wheidl guoxs sk e S o 9 ¢ LY Lo dslaw)

11




Windows.Forms auSo Jlodl Juw sde « Lileaswl i L] a2l aic 9 « daxoy
9 bshuiwl Lod lp] &=l cues lodS g « 8a>ly 650 LpulS caod @uSell 0igd
¢ il iliSe UsSs Ul w,Lidl sawdl @2 Glosie puis « Lol 8 lplosiwl
22> goyuine sli] 98 lile Lo JS6 wolds (ol ol oyl Jlszerall Jominwg s 3]
9 lple> 08 ey il Jlwsl s BluoVl &LS, 08 s s ¢ Class Library ggi oo
ol 8 lisyai WS ol pols slad powl Josiows Ol csawis Vg ¢ 0zl @usall
+ Lpioz,i o8 05 0 9 ¢ (swolodl

9 Windows.Forms @sSe go J=ii S @shuwl Vel 08 lpdlogiow! 2,5 loaic WVl
lge=1,dd ppzeoly dayi s ooVl hwdl Uglosiwy Sl bol « ! &uSo SIS plasiwl
. @SS wlodl @z, b lgazd dacluoll lals

« (eobl 5 2ol ) aulul wllas)l Lasy psis &Syl oM 1a> o LS, 08
lis code sl oomdl] g (il poid] Guoawd o WS &S0l LBV Ul Cus
s Jsadl

i * szl powd)l 4+ (sanisdl ool

3 sl pasil 8o cnbainl] panill S Bo 2550 023355 o 8all ulac a9
ookl adoc SS9 ¢ sl ool go (sduzidl posll

Sracud| Lay;

Sollalll clalll gatiiy

12



